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POPULATION STUDIES
Paper - 11

Note : This paper contains fifty (50) objective type questions, each question carrying
two (2) marks. Attempt all the questions.

1. The human population census in 5.
India is carried out by which of the
following ?

The World’s biggest exercise to map
household assets and amenities in
India began on which of the
(A) Director General of Health following date ?
(B) Director General of Central st )

Statistical Organization. (B) 17 April 2009

(C) Registrar General of India (C) 1% Januar y 1991

(D) Director, Anthropological (D) 1% January 2009
Survey of India.

6. Which one of the following rate is
referred as the probabilistic rate ?

2. Information on which of the
following topics is not provided by

Indian Census ? (A) Migration rate
(A) Demographic characteristics (B) Marriage rate
(B) Economic characteristics (C) Crude death rate

(C) Health Status of the Population

(D) Crude birth rate
(D) Personal and  Household

characteristics
7.  Child-women ratio is a measure of
3. Among the -countries mentioned (A) Population growth
below arrange most populous c
countries in descending order. (B) Migration
(A) China, India, U.S.A,, (C) Mortality
Indonesia. (D) Fertlhty
(B) China, India, Indonesia,
U.S.A. '
(C) India, China, Indonesia, 8. Which one of the fOHOWlIlg
US.A population growth model is not
- tched tly ?
(D) U.S.A., Indonesia, India, matehed correctly
China. (A) Geometric : P =P (1 + 1)t

: . — It
4.  In which of the following categories (B) Exponential : P =P,e

does the estimated Crude Birth Rate

(Per IOQO population) of the World (C) Gompertz : P,=BC!
Population fall ?
. K

© 19-22 (D) 23-26
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STHEET A aT
qqqT - I1

AT : T YT § UE (50) Tg-TThetdid U9 € | Tedeh U9 o &F (2) SR & | Wl UeT o SRS |

1. 9RAH SoE R, Frefeied § @ B 5. frfertaa fafe & 9 T feif ot e
HRATATE ? H o] IR 3T Graensti sl s
, 1 Tava & TEHTH WA URET R
(A) HeT FeeTeh, Tree 9o | -
(B) e FewTeh e Wikt §e | (A) 1% 310, 2010
(C) YR & IR SR | (B) 1% 31, 2009
(D) TH=eTe, R Ja-eh TaeToT | (C) 1% sFert, 1991
(D) 1% SFaR, 2009
2. TTAGARIT | | 9RAE S0ET 7 6 o
foror Gerel STt 8l et & 2 6. Trfeiaa ==t # ¥ g W &
. . et SX FET ST S ?
(A) SHiTheh faferean
] (A) vEE T
B) = e (B) TaamE <
(C) STHEAT hl W& &1 (C) i g
(D) it wel =ey ferfemeeamd (D) FrEeiiE 7 &
3. aysay SHEEN % AEN W 7. fer-afect st frgen Tosve & 2
(A) =M, 9IRA, TN, TTSHRET (B) W™
(B) M, 9RA, SUSHIYTET, SN © TIX
(C)  9IRA, =, TR, SR (D) W
(D) e, , S, 8. TTHTaiEd H ¥ S |1 U= Jig &
Aol Gaferd el & ?
4. Trfafed & § GOR ® SEEE, (A) fSsimfic P =P, (1+1)
SIS S0 & (W 1000 STEE), : P D att
fopar ot o sl & 2 (B) TR : Py =P, e
(C) Mws  :P,=BC!
A) 11-14 (B) 15-18
. K
© 19-22 (D) 23-26 (D) @i P =7 ow
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9.

10.

11.

Match List — I with List — II.

List -1 List — II
P +P
(a) Survivalrate (i) %
59015
: pf
(b) Child- (ii) W o
Women ratio p™
W o
P
(c) Dependency (iii) 570
ratio 49W15
WPt
(d) Sex-ratio (iv) pt
n- x
Codes :
@ ® (@© @
A @ Gy (av) (i)
B) Gy @ G (>{v)
© G @Gv) G @)
D) Gv) G @ >
Assertion (A) Sex-ratios
(females/1000 males) during
ageing are found high in
developed nations than the
developing ones.
Reason (R) Life expectancy

of females is higher than the
males in developed nations.

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A).

(B) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A).

(C) (A)is true, but (R) is false.

(D) (A) is false, but (R) is correct.

Which of the following major States
of India has recorded the highest
density of population during 2001
census ?

(A) West Bengal

(B) Uttar Pradesh

(C) Bihar

(D) Kerala

12.

14.

Latest Sarkari Jobs, Govt Exam Results
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The growth rate of the population of
the world was the highest during the
period

(A) 1910-1920 A.D.

(B) 1940 -1950 A.D.

(C) 1970 -1980 A.D.

(D) 1990 — 2000 A.D.

Assertion (A) : In India, the
growth rate of population
started declining since 1981.

Reason (R) India entered
into the third stage of
demographic transition during
1980s.

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A).

(B) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A).

(C) (A)is true, but (R) is false.

(D) (A) is false, but (R) is true.

Match the following population

parameters among the major States
of India, as per 2001 census.

Population Major States
Parameters
(a) Lowest (1) Jammu
share of &
population Kashmir
(b) Lowest (i) Himachal
density of Pradesh
population
(¢) Lowestsex (iii) Kerala
ratio (F/M
x 1000)
(d) Lowest (iv) Punjab
decadal
growth rate
Codes :

(@ ® (© @
@A @ G (@) (1v)
B) (i) @Gv) @ (i)
© @ @ (v) (i)
D) Gv) @) G @)



9.

10.

11.

e — 1t Gt — I1 § GHfeTd it

et - I et - 11
(a) SHfed @ n 15P * Peo
Y s59P1s
(b) Terer-wfEen W WP
ST WP
(c) FvRam 5P
At (i) 49W15
t+n
() ferr-amma  (jv) — o
&

(@ ® (@© (@

A) (G () Gv) (id)

B) G @ @) ()

© @Gi) Gv) G @)

D) (v) @i) @ (i)

Afirper (A) :  foraeier I Wi
31T TorRtad <9 | Ferd H for-
sra (Rt / 1000 g&®) @i
3fereh T ST E |

& (R) :  fopfaa T & e
i STra-Hedr gos i qorT §
A |

(A) (A) 3R (R) SH &l ¢ 3R (A)
%1 (R) el TE0T & |

(B) =M (A) #R (R) W & ] (A)
T (R) TET TR0 TG ¢ |

(C) (A) WEE, R (R) T € |
(D) (A) T &, W (R) W& |

IRA & W AT |, 2001 Sl ST0ET
F SER fRw T H oSHEEr &
AR FEaT i RS fohar T 2
(A) UREHI s (B) SRS
(C) TR (D) HA

Latest Sarkari Jobs, Govt Exam Results
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12. fovd =t ST o foepTg S fohg eaty

% IR ATy off ?

(A) 1910 - 1920 9. ST
(B) 1940 — 1950 £.9. W=
(C) 1970 — 1980 £.9. ST
(D) 1990 — 2000 .9. ST

ANHAT (A) : YURT H SHEET &
3§ X 1981 | HH ST URT &
TE |

& (R) : 9RG 1980 @
FHTATEY & IR SHIThehE GshHT
o T & H U 81 T |

(A) (A) 3R (R) 3HI TEl & 3R (A)
T (R) el TEHT & |

(B) (A) 3R (R) T T &, ] (A)
%1 (R) el T2ehoT &1 & |

(C) (A) W&, W (R) Toid & |
(D) (A) T g, W (R) Wl & |

2001 =T SIUMT & STYR TR F=reAiad
STHEAT TRTHIT hl 9R o T T4
GHfeTd hifTT
TEEET WY W
(a) SHEETEH (i) STH-HYHR
AAH 9T
(b) SE=NH (i) fenmE
AT T )
(c) =g fem- (i) e
EERIGH
(et / gem
x 1000)
(d) FFAHETE  (iv) "

Fg |
% :

@ b @© (@
(A @ G () (1)
B) @) @Gv) @) (D)
© @ @ (v) (i)
(D) (v) (@) (@) (@)



15.

16.

17.

As per 2001 census, arrange the
major States of India, based on
decadal growth rate (1991-2001) of
population in ascending order.

(A) Kerala, Tamil Nadu, Orissa,
Himachal Pradesh.

(B) Kerala, Tamil Nadu, Himachal
Pradesh, Orissa.

(C) Tamil Nadu, Kerala, Orissa,
Himachal Pradesh.

(D) Orissa, Himachal
Tamil Nadu, Kerala.

Pradesh,

Assertion (A) NRR = 1 means
population becomes stationary
in the long term.

Reason (R) NRR = 1 means

that a woman replaced by one
girl on an average in her
reproductive life span.

(A) Both (A) and (R) are correct,
(R) is the correct explanation
of (A).

(B) Both (A) and (R) are correct,
(R) is not the correct
explanation of (A).

(C) (A) is true, but (R) is false.
(D) (A) is false, but (R) is true.

Among the following sources of data
which source does not provide
information on fertility ?

(A) The Vital Registration System
(B) The National Periodic Census

(C) The Model
System

Registration

(D) Sample Fertility Surveys.

18.

20.

21.
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Match items of List — I with items of
List — IT given below :

List -1 List - 11

(a) Theory of (i) Arsene
Change and Dumount
Response

(b) Theory of (1) Kingley
Social Davis
Capillarity

(c) Proximate (i11) Easterlin
Determinants
of fertility

(d) Economic (iv) Bongaarts
framework
for fertility

Codes :

(@ @ (© @
A @ @ (Gv) (i)
B) (@) @ (@) ({v)
© ® G (@) ({v)
(D) Gv) @) G @)

As per the model devised by

Kingsley Davis and Judith Blake,

which among the following is not

“Conception variable’ ?

(A) Fecundity or infecundity as
affected by involuntary causes.

(B) Use or non-use of
contraception.

(C) Fecundity or infecundity as
affected by voluntary causes.

(D) Age of entry into sexual union.

If death rate of a stationary
population is 10, its life expectancy
would be
(A) 100
© 50

B) 80
(D) 10

Knowledge of HIV/AIDS among
ever married adult men (15-49)
according to NFHS-3 was around
(A) 60 % (B) 66 %

(C) 68% (D) 70 %



15. 2001 SUFT & YR W, 9Rd &
TG AT H S ST 3 &
(1991-2001) & STFIR 3R 9 H
U |
(A) A, qHATE, IS, TeATae
PEN)

(B) e, dafgerrs, femmer wsw,
EiEel)

(C) dfHerTs, et, e, Tearae
PEN)

(D) Sfean, fedmet W, dfterrs,
HA

16. AMIHAT(A) @ TI AR AR = | &
g ¢ for SEeer § SEEE
BT SR |

& (R) : TTAR 3R =1
19 & o Uk oI, 39 U
AgetT, ST o8 3709 W s
! FIAEY H GO FEA
FIEAAANE |

(A) (A) 3 (R) SHI W&l & R (A)
%1 (R) el TEF0TE |

(B) (A) 3R (R) I Wl &, WA (A)
&1 (R) T&l T &l € |

(C) (A) WEE, R (R) T € |
(D) (A) T &, W (R) W& |

17. FeAfeEd sihe-Sidl 4 & &
Bl TS Tl Gl Tét 3aln & ?

(A)  STH-Teg ST e
(B) S 3@ SO
(C) AT USTIeRoT gzt
(D) AT T FAEoT

18. Tt — I ot H&T ol et — I ot 73T 9

GHfeTd I :

et - I el - 11

(a) UReH Ud () eREA
STfRaT gHISUE
g

(b) WIS (i) ferreret
HISTERT (TIRTEA Siers)
i)
g

(c) USRI (iii) S&fe
ereadt
heh

(d) TSR (iv) Smed
fow amférR
are

FT :
@ () (© @
A) () () (iv) (i)
B) @) (@@ (i) (>{v)
© (@ @) i) (>{v)
D) @(v) i) G @)
19. fFoel o U Sffey w=fh FNT
fefua Aeet & TR, Ffafad 7
T B G MR W (FEIE
AT i & ?
(A) TSHE-8THAT 3Tl STUSTA-
T W IS 35 FHROT |
(B)  TIRIeeh! ST UGRT 3T4aT 37-T0T |
(C) VSTH-&TH el ST~
&THAT W Ufessh HROT |
(D) T HATET | fafte & a9
cafc il
20. 3RS fordt TR ST 1 9 =X 10
o1 ZEeh! S T B
(A) 100 (B) 80
© 50 (D) 10
21. TAUANEUI-3 6 AR (15-49) a9
% foranfed gl § U= eME.A. / Ugq %

TR H SRR T foha ufqerd ot ?
(A) 60 % (B) 66 %
(C) 68 % (D) 70 %
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22. In the life table which one is not 26. Assertion (A) : According to

correct ? Blacker’s scheme of

2M, 2n- M, Demographic Transition,

@A) q. =5 M B G=5 M Kerala has entered 4™ stage of
T x e Demographic transition.

x Reason (R) ¢ Kerala’s Low

© o= L, (D) T, =L+, Birth Rates are balanced by

substantially Low Death-rates.

23. Followings are found associated (A) Both (A) and (R) are true and
with the reproductive health : (R) is the correct explanation
1. RTI of (A).

2. HIV/AIDS (B) Both (A) and (R) are true, but
3.  Teenage pregnancy (R) is not the correct
4. Nupliality explanation of (A).

Find out the correct combination of (C) (A) is true, but (R) is false.
answer according to the code : (D) (A) is false, but (R) is true.

(A) 1, 2,3 and 4 are correct

(B) 1,2 and 3 are correct 27. Assertion (A) : According to
(C) 1,2 and 4 are correct Malthus Agriculture
(D) 2,3 and 4 are correct production increases by

Arithmetic progression and

24. Assertion (A) : Poor women . :
population increases by

experience fmore infant Geometrical Progression.
mortality rate than well to do .
women Reason (R) ¢ Green
’ Revolution in India has
Reason (R) ¢ Poor women

revolutionized the growth-rate
of agriculture.
(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A).
Both (A) and (R) are true, but
(R) is not the correct
explanation of (A).
(C) (A)is true, but (R) is false.
(D) (A) is false, but (R) is true.

have less access to health
services than well to do
women.

(A) Both (A) and (R) are true and
(R) is the correct explanation (B)
of (A).

(B) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A).

(C) (A)is true, but (R) is false.

(D) (A) is false, but (R) is true. 28.  Which one of the following is not

25. Which among the following is not a correctly matched ?
Fertility theory ? (A) Demographic — Notestein
(A) The theory of social capillarity. Tr ansition ‘
(B) The theory of change and (B) Intermediate — Davis &
response. Variable Blake

(C) The theory of optimum

population. (C) [Utilities & - J.C. Caldwell
(D) The theory of diffusion or Disutilities
cultural lag. (D) Household  — Becker
Commodities

Latest Sarkari Jobs, Govt Exam Results, m
Vacancies and updates on one click




22,

23.

24.

25.

Sem-difersrr & fr=fofad & ¥ @9 @1
TE T & ?

2M,
A) 4 =37 M

2n- M
n x
B) 19, = 2+n- M
T

© e=7"

(D) T, =L+,

TrAfAEe T T SR WA T E
RIS

T / TeH
TRSTRIERT T e ROTIET
SaTteshar

T 2 B T T el S 1 99
FHiteTT

(A) 1,2,33R4TEE |

(B) 1,23R3EEE |

(C) 1,23R4TE |

(D) 2,33R4TEE |

afirpe (A) ;9 wfeement o
T AECT3 i 3TURT 3T
R g WA & |

& (R) : e dfeeten @t

o= AETST # qer H owY
T YT SUAH Bl & |

(A) (A) 3R (R) 31 T&l & 3R (A)
T (R) el TEHT & |

(B) (A) 3R (R) T T &, ] (A)
%1 (R) el T2ehoT &1 & |

(C) (A)WEIe, g (R) T € |

(D) (A) T &, W= (R) WEl &

fTeAtiae o Q ohiF 91 S e Tl € ?

(A) WIS HISThT (TR HTANT)
g |

(B) URadH ua e MET |

(C) 3T IFHoray ST fsT |

(D) TowRUT o7 AiRepids Usem
g |

S
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26.

27.

28.

ATMBHAT (A) : =R H SHIFHET
TFAUT WHH F SR, e
STifehepIa GehHUT Shi =t STere
AU S TE |

& (R) R i B B R s T
= gog TR §RT ot & STl € |

(A) (A) 3R (R) 34 T&l & 3R’ (A)
%1 (R) el TEoT & |

(B) (A) 3R (R) T Wl €, T (A)
%1 (R) T&l Tl FE1 ¢ |

(C) (A) WEE, R (R) T € |
(D) (A) T &, W] (R) Wl &

ANTHAT (A) : FOdH &F AR F
S § gfg e gt § @R
ST § S gig Bt § |

& (R) : 9RA H gRd s A
H SATA-R H BT AT IE |

(A) (A) 3R (R) SHI Wl € 3R (A)
%1 (R) el TEFoT & |

(B) (A) 3R (R) T Wl €, T (A)
%1 (R) T&l W0l T € |

(C) (A) WEE, <] (R) T € |
(D) (A) Tord &, W] (R) el &

fereAferfiaa & @ s o1 gafera @i g ?
(A) SHIRRE — — AREH
RSE2)

(B) HHadI TR _ Sfa¥ IR =0
(C) ST ud _ .9l Fesae



29.

30.

31.

32.

33.

Which one of the following names is
associated with migration theories ?
(A) Malthus

(B) Ravenstein

(C) Caldwell

(D) Chandrasekharan

Assertion (A) Concept of
human ecology is dynamic
beyond man-environment
relationship.

Reason (R)
is  Dbetter
interpreted
dimension.

(A) Both (A) and (R) are true and
(R) explains (A).

(B) Both (A) and (R) are true and
(R) is not the right explanation
of (A).

(C) (A)is true, but (R) is false.

(D) (A) is false, but (R) is true.

Which one of the following

characteristics is best suited to the

formulation of sustainable development

strategy in Indian planning ?

(A) Minimising regional imbalance
in development.

(B) Employment generation
creating durable assets.

(C) Minimising rural-urban
dichotomy.

(D) Providing minimum levels of
facilities and amenities to the
entire population.

Human ecology
understood and
using  regional

If the entire urban population were
concentrated in one city, the value of
Gini concentration rate would be

(A) 0.0 (B) 0.3

© 0.5 (D) 1.0

Which one of the following is a
conurbation ?

(A) Lucknow — Kanpur

(B) Bangaloru — Tumkur

(C) Ahmedabad — Vadodara

(D) Kolkata - Howrah

34.
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Percentage of urban population to
total population in India as per the
2001 census was approximately

(A) 25percent (B) 30 percent
(C) 35percent (D) 40 percent

Which one of the following

characteristics is not included in the

census classification of a town in India ?

(A) Population size

(B) Presence of Cantonment or
Municipality

(C) Percentage of male workers in
non-agricultural activity

(D) Functional characteristics

W. Christaller envisaged a hierarchic
system of settlements based on
administrative function with value of

(A) K=3 (B) K=4
(©) K=6 (D) K=7
Assertion (A) The female work

participation among the Tribal
population of India is high.

Reason (R) India has a rich
heritage of Tribal Art and
Artifacts.

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A).

(B) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A).

(C) (A) is true, but (R) is false.

(D) (A) is false, but (R) is true.

Assertion (A) Prevalence  of
Domestic  violence against
women in India is high among
low income households.

Reason (R) India 1S
experiencing feminization of
poverty.

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A).

(B) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A).

(C) (A)is true, but (R) is false.

(D) (A) is false, but (R) is true.



29.

30.

31.

32.

33.

feffea & @ &9 @ 99 veEd
TogT=i @ S[ergen & ?

(A) ToaH (B) oA
(C) e (D) IIEHA

AT (A) . THEE Rt
TR SFerIOT oht TilieraT Aa-
AR T G f W ¢ |

& (R) : AEEE Rt
fos = & foant @ afues
LT ST HhAT & |

(A) (A) 3R (R) TT Wl & 3R (A)
I (R) WL HEATE |

(B) (A) 3R (R) 3FI Wl €, WA (A)
%I (R) W & HLATE |

(C) (A)WEIe, g (R) T € |

(D) (A) T &, W (R) Wel € |

ffafad ¥ @ = 9@ faferedr arot

Hgig & fow uRdi= IS & o= F

TR SRS BT 2

(A) foFm ¥ &Em oo W
AT T |

(B) TUSTIR S[eMT e Tt aiaesraT
I TATAT & |

(C) UMIU-TRE SR i 3TqdH
T |

(D) TgHl SHEET &% fou e @R/
-Gt i 3T |

g U7 FRIF G TH & TR
hiset &, Al T Hohw0T 3T T Jodf ©IT
(A) 0.0 (B) 0.3

© 0.5 D) 1.0

frafefed @ Y0 w9
(conurbation) HF ATE ?

(A) AETS — FR

(B) STCI® — TR

(C) 3FEHRER — TSR

(D) hICTHIAT — ISl
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T 2001 H STHOAT H ARG B HoA
AEE § TRE AR W Wiqwraar
T Tt o 2

(A) 25ude (B) 30 W
(C) 35udea (D) 40 Waer

= 4 ¥ g fOrear & 9rRd"
STTUET | el bl SUTeg e o [T
wftrtera T8l forar g ?

(A) STEEEAT H 3R |

(B) ST 31T FRUTCIehT T & |
(C) TR P FET B T-hrEharen i

YT |
(D) SRR AT |

Ty, foheer o il o Iohd IS

I FEAAT HI A ST YRR FE W

M off, TRt Jogr o

(A) K=3 (B) K=4

(C) K=6 (D) K=7

ANHAT(A) : 9RdG | oA
STEEn 0o W ey 0
HEHITT 37 € |

& (R) ¢ YRT H SN
oAl Uel Wil oh! T G € |

(A) (A) 3R (R) TT el & 3R (A)
T (R) el TEHT & |

(B) (A) #R (R) SHI Tl €, W (A)
T (R) Te! TSR0 TR € |

(C) (A)WEe, g (R) T ¢ |

(D) (A) T &, W (R) Wel € |

ANHAT (A) : YRA H = o9 ot
WA e W ome oW
STqheT 3UH & |

& (R) : ORA A AT S
3TERTCT <hl ST T T T € |

(A) (A) 3R (R) T1 Wl & 3R (A)
T (R) el TEHTE |

(B) (A) iR (R) SHI Wl €, W (A)
1 (R) Tel TSR0 TR € |

(C) (A)WEIe, g (R) T ¢ |

(D) (A) TEd &, W= (R) Wel € |
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Assertion (A) Within India, the
quantum of female migration

is higher than the male
migration.
Reason (R) : The proportion

of educated tribal female is
higher than that of males in
India.

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A).

(B) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A).

(C) (A)is true, but (R) is false.

(D) (A) is false, but (R) is true.

Assertion (A) Son preference
is high in India.

Reason (R) : Old age
securities are negligible in
India.

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A).

(B) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A).

(C) (A)is true, but (R) is false.

(D) (A) is false, but (R) is true.

Which of the following is not

associated with Population Policy ?

(A) Reducing fertility

(B) Increasing migration

(C) Safeguarding mothers and
child health

(D) Addressing the un met need
for family planning.

Which of the following is not

associated with family welfare

programme in India ?

(A) Couple protection rate

(B) Tubectomy

(C) Medical
Pregnancy

(D) Incentives

Termination of
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Assertion (A) : The National
Rural Health Mission (NRHM)
has been  successful in

improving health conditions of

the poor living in village.

Reason (R) Village
Panchayats and Accredited
Social Health Activist (ASHA)
are more active in

strengthening the = NRHM

activities.

(A) Both (A) and (R) are true, but
(R) is not the
explanation of (A).

correct

(B) Both (A) and (R) are true, but
(R) is not the
explanation of (A).

correct

(C) (A) is true, but (R) is false.
(D) (A) is false, but (R) is true.

different
implemented in
chronological order :

Arrange programmes

India in

Family Planning Programme (FPP)
Family Welfare Programme (FWP)

Maternal and  Child  Health
Programme (MCHP)
Reproductive and Child Health
Programme (RCHP)

(A) MCHP, RCHP, FPP, FWP
(B) FPP, FWP, MCHP, RCHP
(C) FPP, MCHP, FWP, RCHP
(D) RCHP, MCHP, FWP, FPP



39.
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42,

AT (A) @ 9Rd H i &
TOE YN o YaEd i ST
AT |

& (R) : 9Ra # Tl
afgaTst Rt &1 e gosi 9
AMHE |

(A) (A) 3R (R) T4 T&l & 3R (A)
T (R) el TEHT & |

(B) (A) 3R (R) T Wl €, R (A)
%7 (R) el T2eoT &1 & |

(C) (A)WEIe, g (R) T ¢ |

(D) (A) T &, W= (R) Wel € |

it (A)
AMHE |

& (R) : YRA U gEE
TRETT TET o SRR & |

(A) (A) 3R (R) T4 T&l & 3R (A)
%7 (R) el TEHTE |

(B) (A) 3R (R) 3l el &, W= (A)
%1 (R) el T2eoT &1 & |

(C) (A)WEIe, g (R) T € |

(D) (A) T &, W= (R) Wel € |

: YRA H UF SR

frfefaa & & &9 @1 sHEE Jifd

Ty i g ?

(A) USTH T HH HET |

(B) W I TG |

(C) Hramell 3R st o @ &t
TETT AT |

(D) URER TEISH @l 37 AT &t 3R
I T 5776 378 ek T &l fohaT
ST T |

frferfiaa IRl & @ hi- 91 HREHH ©
ST RA | FTeTd IRER SheaToT HTIshar
Y Tt T ?

(A) TN T X

(B) [

(C) TToTeree ot Fafehedd T
(D) wicHRA
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AU (A) : UL UHOT e
e (NRHM) Tt & & &t
T A g & |

& (R) : UMW YOEd adr

Theee WY god  ufeefae
(ASHA) &l H UH.3TR.UE.UH.
% fRaTReTdl w SeEr I o
3Tk WEFA & |

(A) (A) 3R (R) THI Wl & 3R (A)
%1 (R) T&l T8 |

(B) (A) 3R (R) T el €, T (A)
%1 (R) T&l W0 TR € |

(C) (A) WEE, W< (R) T € |
(D) (A) T g, W (R) W& |

IRad B wn fafu= e
FHTCTHATIAR ST :
IRER ST HsRe (TH.O.T.)
IRER FHeAT0T FEHT (Th. T, 1. )
g ud W] @ sy
(TH. L EE )

TS wd B @Rem sy
(TR Gr.u=.T.)

(A) THHTE, STRETE, T,
TS

(B) UFUM, UwSsW, UAECE,
SRy

(C) UHUMd, URHUEd, UhSE,
ARG

(D) STRET, THETET, THEH,
TRAY



45. Match List — I with List — IL. 46. The main issue of concern in the
List -1 List - II paragraph related to population, is
@) ;n;ep tion of M 1976 (A) Optimum population
Programme (B) Food supply
(b)  Important (i) 1977 (C) Land available for cultivation
Developments
in F.P. (D) Marriages
Programme
(c) Family (i) 1952
Welfare 47. Population numbers are adjusted to
Programme e
. . . A) R Availabil
(d) First National (iv) 1980 (A) Resource Availability
Population (B) Customs and Cultural
Policy Practices
Codes : (v) 1966 (C) Land-use and Food-supply
@ @® () @ (D) Taxation system
A) (i) (v) G @)
B) @Gv) G aG) @) , ,
©) @) G G(v) ) 48. Over-population results in
D) G @Gv) () @) (A) High mortality rate
Read the following passage carefully (B) Late marriages
and answer the following Question
Nos. 46 to 50. © War
Chinese writers, since the time (D) Economic hardship
of Confucius, have theorized that if
population is too small in
comparison to Land, it would remain 49. The impact of small population is
uncultivated and lead to default of felt on
tax. On the other hand, too large a
population can lead to economic (A)  Food supply
hardship. Chinese writers had an (B) Land remaining fallow
under current of optimum population
in their thought when they made (C) Pre-mature marriages
these observations. The ancient D .
Chinese writers also observed that (D) High infant mortality rate
mortality increases when food
supply is insufficient, that premature
marriages make for high infant 50. The tone of the passage can be best
mortality rates, that war checks described as
popu}ation growth,‘ and that costly (A) Analytical and Optimistic
marriage ceremonies reduce the
marriage rates although they paid (B) Biased and Unprofessional
little attention to the manner in (C) Critical and discouragin
which  numbers  adjusted to ing
resources. (D) Descriptive and Conclusive
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Vacancies and updates on one click




45. g — 10 et — 11 § GAferd it

et - I et - 11
(a) URAR ST (i) 1976
TS T TRET
(b) INER FSH (i) 1977
HISHH H Hewqul
foreprar
(c) INER FHATT (iii) 1952
EApER
(d) verm TR (iv) 1980
S it
(v) 1966

B :

(@ ® (© @
A G vy G @
B) @Gv) @) G) (@)
<G ® G G ()
(D) @) Gv) G (@)

e TTRITST BT YA Ugt N, 46 9
50 % IR ST :

< iEeh |, AT & qHT
& 8 faar fean & fo sae of
oI H IS g & w9 & ar g gfF |
Gl 1 ! ST TR T F-TuE | HHY
MM | T 3R, SHEEAT T AT
FT 3R il ht 3R o STATE |
T TRl 3 STe UAT el df 39k 09 °
TE TS TA T 9T Toh STHEAT i g
T T | R T oRaehl Sl T8
ff foar o1 7% g R @@ wel F
AT FATE B TR gl € | sheddl 31
1 It 9 Fore] gog <R 3= gl § 3R
I, STEEAT i T 9 bl € | So9 =
arer foree TeREr 9 faar X ged €
TR 27 oigehi A 39 TR &9 78 {2 foh
SEET T Gl 9 deHd [hE TR
I3ATE |
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T AT 5N A 39 e i 3TR Gre
T S S @ gl €

(A) SEH SHEET

(B) W Hws

(C) Tl = foru Soered 1
(D) foame

ST okt T ST ST IST TR ST
g

(A) HId STAIT

(B) ifdiamsT ud |ihideh SHer
(C) W v el wre Jeers
(D) X OTIAr

HTeT ST T Wt 2l &
(A) 3R TG

(B) 3k 3 | forame
© IS

(D) e shfcATea

FAfcfad § ¥ &7 Y= & T9E
PR eEars ?

(A) TE-TEE

(B) [l @I 9w W

(C) el 3G & foame |

(D) iy frg g AR

T A Wl Il IS UBR °
ST o <1 HhaT &

(A) ToweITOTTeHe TS TTMaTaT
(B) vAMTed U AT
(C) STeT=HTT Ud o
(D) U U FHuTETeHs
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